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Introduction 
Our examiners’ reports are produced to offer constructive feedback on candidates’ performance in the 
examinations. They provide useful guidance for future candidates. The reports will include a general 
commentary on candidates’ performance, identify technical aspects examined in the questions and 
highlight good performance and where performance could be improved. The reports will also explain 
aspects which caused difficulty and why the difficulties arose, whether through a lack of knowledge, poor 
examination technique, or any other identifiable and explainable reason. 

Where overall performance on a question/question part was considered good, with no particular areas to 
highlight, these questions have not been included in the report. A full copy of the question paper can be 
downloaded from OCR. 
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Paper 9 series overview 
This was the second year in which the new GCSE History ‘A’ specification has been examined, and 
examiners were impressed with the quality of many candidates’ responses, both in terms of quality and 
the level of care taken over the scripts. Paper 2 is the thematic study, and this option covers a thousand 
years of British history, during which Britain transitioned from rule by monarchs to a parliamentary 
democracy. Successful candidates need to demonstrate an understanding of changes and continuity 
across this broad sweep of time, considering aspects of who held power, their basis of that power and 
how it was maintained and challenged across three eras. There were many strong responses seen by 
the team of examiners that worked on this paper, and these typically displayed effective time 
management skills, a good understanding of different chronological periods, and the ability to analyse 
material in relation to the specific demands of the questions set. Questions 1 and 4 produced many 
strong responses, with candidates displaying good understanding of medieval issues in particular. In 
general, a wide range of candidates were able to identify or describe relevant issues for the higher tariff 
questions and so reach at least Level 2 for these. That said, many responses remained in Level 2 since 
they did not develop sufficient focus to move into explanation, and this was especially true of Questions 
2 and 3 (as stated above). For these questions, some candidates demonstrated insufficient 
understanding of the issues demanded by the question and suggested that more thorough revision 
would have improved their ability to respond to them. 
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Question 1 

This question had very straightforward demands; candidates were required to give two examples of valid 
claimants to the English throne in 1066. For candidates to obtain full marks, valid details of each claim 
also needed to be provided. Many candidates were clearly engaged when studying the topic and 
produced strong responses that showed a sophisticated understanding of valid claims to the throne with 
William of Normandy, Harold Godwinson and Harald Hardrada almost always the examples candidates 
used. Some candidates confused the basis for the claims, and others supported with details that were 
too general to credit with an extra mark; for example, Edward the Confessor did not promise the throne 
to all the claimants. Another common misconception was for candidates to describe generic claims to the 
throne that did not identify a particular claimant in 1066. 

Candidates should be encouraged to approach this question briefly. There is no reason why the 
examples and development cannot form the same sentence. Questions 3 and 4 present candidates with 
a more significant academic challenge. Centres have been effective in encouraging their students to 
write a short response to Question 1, and this has allowed a greater range of extended responses to 
Questions 3 and 4 than last year. 

 

Question 2 

Candidates were expected to identify valid reasons for the growth of the Labour Party during this period, 
and to credit the broadest possible range of valid material, ‘growth’ was interpreted by the examiners as 
any development, either in terms of the origin of the Labour Party or its expansion in the early twentieth 
century. Ideally, candidates cited a valid issue, developed this with some exemplification and then 
connected the issue clearly to the development of the Labour Party in order to construct a valid 
explanation. Two sound explanations were sufficient for candidates to reach the top of Level 4, and so 
full marks. Reference to the growing demands of the working classes, dissatisfaction with existing 
political parties, the development of trade unions and the voices of those recently enfranchised were all 
commonly cited as valid reasons for the growth of Labour in the period and these were frequently 
developed by candidates into explanation. There were also attempts to consider the Chartist movement 
as a reason for the growth of Labour; candidates did not often make the necessary links to associate this 
much earlier movement to the development of the Labour Party and this was a far less successful route 
taken by some candidates. Another misconception was the assumption of links between Labour and the 
militant women’s suffrage movement. Although sound understanding of the material was seen in many 
scripts, some candidates offered material that was chronologically confused with reference, for example, 
to the 1980s. 

As noted in last year’s report, candidates should be following a structure to their response rather than 
writing a narrative. It is effective if each attempted explanation is its own self-contained paragraph. 
Question 2 will often be focused around a cause (as with this paper) or a consequence (as with last 
year’s paper). This question is broadly like Questions 2 and 6 on Paper 1 and Question 1 on Paper 3 
and centres are strongly advised to adopt a similar approach across these papers. Issues of ‘linking back 
to the question’ are always at the heart of historical explanation and are just as relevant in Question 4. 
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Question 3 

Central to success with this question was an understanding of how the 1832 Reform Act changed (or did 
not change) the nature of the British electoral system. Many candidates were able to offer information 
about the Reform Act, but without demonstrating an understanding of how it represented change (or 
continuity) it was not possible to reach Level 3 and higher. A good example of this was the way the act 
redistributed parliamentary seats; a larger number of candidates managed to demonstrate how this 
constituted change by removing ‘rotten borough’ constituencies and giving representation to industrial 
cities, opening access to Level 3. For Level 4, candidates were expected to show how an understanding 
of how the act represented a turning point or how it had long term consequences, and there were a good 
number of responses that did so successfully, often by arguing that the act set a precedent for further 
reform. Candidates could also reach Level 4 with convincing comment about how the act was not 
significant, and this was usually accompanied by material on the later parliamentary reforms which 
demonstrated their relative importance. While the great majority of candidates offered relevant comment 
on the 1832 Reform Act, some material was rather confused – for example by mixing up the act with the 
1867 one - and in some instances candidates mistook the question as a reference to the Reformation. 

Centres have clearly encouraged students to try and consider the issue of significance, but there is still 
room for improvement in students’ responses. At the heart of a response should be a focus on change or 
continuity which should involve an understanding of ‘before’ and ‘after’. Many candidates did not deal 
with the issue of ‘before’ and so claims of change were less convincing. This focus should aid candidates 
in reaching Level 3. Change that is explained as long-lasting or wide-ranging is likely to be moving 
towards significance, and so Level 4. 

Exemplar 1 
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The second paragraph of this candidate’s response is a helpful one, as the candidate constructs an 
explanation based around the significance of the Act as a precedent for further reform. It shows an 
awareness of longer-term change that occurred as a result of the 1832 Act, and so of its significance. 
This is reflective of a Level 4 response. 
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Question 4 

The 2018 report on this examination gave advice regarding the need for candidates to draw on material 
from both the historical periods referenced in the time span of the question. It is clear that centres have 
acted on this feedback, and the majority of responses made it very clear that candidates were 
approaching the question with reference to both historical periods in addition to the ‘sides’ of the 
question (whether the nobility were the most important limitation to the power of the monarchy or not). 
Some candidates offered material to disagree with the statement that suggested the monarchy were able 
to successfully overcome challenges from the nobility rather than looking at other factors that limited the 
power of the monarchy. This was considered by examiners to be a valid approach and was credited. In 
order to construct a successful explanation, candidates were expected to specify how the issue they 
discussed limited the power of the monarchy; for instance, many candidates identified Magna Carta, but 
some lacked an example of how it limited John’s (and future monarchs’) power. The overall quality of 
candidates’ responses to this question was impressive; many offered valid examples of the nobility and 
‘other factors’ spanning both time periods with explanation of how the monarchy’s power was limited as 
a result, opening up Level 5. The quality of much of the material for the medieval period was particularly 
strong with candidates grappling with relatively complex material, and with success. The scope of the 
question allowed candidates to consider a broad range of factors that limited the power of the monarchy 
and examiners saw many candidates rise to that challenge. There were some candidates who 
misunderstood the term ‘nobility’, and this limited the extent to which they could access the higher 
marks. 

In order to obtain a secure mark in Level 5, candidates do need to make sure that they have constructed 
four explained points across two time periods and that these both agree and disagree with the 
statement. This is challenging – and the marks for Question 4 represent almost half the marks available 
on the entire paper – and candidates are strongly advised to set aside around half the time of the 
examination to answer it. That said, many candidates attempted to consider a very large number issues 
and while these responses showed some breadth of understanding, they sometimes appeared rather 
narrative as the material was not developed sufficiently for each example and so lacked creditable 
explanation. It would be advisable for candidates to focus on fewer issues, but to develop them more 
fully to make sure that they respond specifically to the question set. Without explanation, a long 
descriptive response charting a wide range of monarchies receives relatively little credit; the highest 
mark for such a response is Level 2, nine marks. 

Examiners were impressed by the number of candidates who were able to construct a clinching 
argument, often around how Parliament increasingly became more of a threat to the power of the 
monarchy than the nobility. 
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Supporting you 
For further details of this qualification please visit the subject webpage.

Review of results

If any of your students’ results are not as expected, you may wish to consider one of our review of results 
services.  For full information about the options available visit the OCR website.  If university places are 
at stake you may wish to consider priority service 2 reviews of marking which have an earlier deadline to 
ensure your reviews are processed in time for university applications.

Review students' exam performance with our free online results analysis tool. Available for GCSE, A Level 
and Cambridge Nationals. 

It allows you to:

•	 review and run analysis reports on exam performance 

•	 analyse results at question and/or topic level*

•	 compare your centre with OCR national averages 

•	 identify trends across the centre 

•	 facilitate effective planning and delivery of courses 

•	 identify areas of the curriculum where students excel or struggle 

•	 help pinpoint strengths and weaknesses of students and teaching departments.

*To find out which reports are available for a specific subject, please visit ocr.org.uk/administration/
support-and-tools/active-results/ 

Find out more at ocr.org.uk/activeresults

CPD Training
Attend one of our popular CPD courses to hear exam feedback directly from a senior assessor or drop in 
to an online Q&A session.

Please find details for all our courses on the relevant subject page on our website. 

www.ocr.org.uk
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OCR’s resources are provided to support the delivery of OCR 
qualifications, but in no way constitute an endorsed teaching 
method that is required by OCR. Whilst every effort is made 
to ensure the accuracy of the content, OCR cannot be held 
responsible for any errors or omissions within these resources.  
We update our resources on a regular basis, so please check the 
OCR website to ensure you have the most up to date version.

This resource may be freely copied and distributed, as long as  
the OCR logo and this small print remain intact and OCR is 
acknowledged as the originator of this work. 

Our documents are updated over time. Whilst every effort is made 
to check all documents, there may be contradictions between 
published support and the specification, therefore please use the 
information on the latest specification at all times. Where changes 
are made to specifications these will be indicated within the 
document, there will be a new version number indicated, and a 
summary of the changes. If you do notice a discrepancy between 
the specification and a resource please contact us at:  
resources.feedback@ocr.org.uk.

Whether you already offer OCR qualifications, are new to OCR, or 
are considering switching from your current provider/awarding 
organisation, you can request more information by completing the 
Expression of Interest form which can be found here:  
www.ocr.org.uk/expression-of-interest

Please get in touch if you want to discuss the accessibility of 
resources we offer to support delivery of our qualifications: 
resources.feedback@ocr.org.uk

OCR is part of Cambridge Assessment, a department of the University of 
Cambridge. For staff training purposes and as part of our quality assurance 
programme your call may be recorded or monitored. 

© OCR 2019 Oxford Cambridge and RSA Examinations is a Company 
Limited by Guarantee. Registered in England. Registered office  
The Triangle Building, Shaftesbury Road, Cambridge, CB2 8EA.  
Registered company number 3484466. OCR is an exempt charity.

General qualifications
Telephone 01223 553998
Facsimile	 01223 552627
Email general.qualifications@ocr.org.uk

www.ocr.org.uk

OCR Customer Support Centre

Looking for a resource?
There is now a quick and easy search tool to help find free resources 
for your qualification:

www.ocr.org.uk/i-want-to/find-resources/

mailto:resources.feedback%40ocr.org.uk?subject=
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